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College Algebra M121 Name: Period
Chapter 3 PRACTICE TEST Mrs. Goody

Each problem must be solved with supportive work. Your work is to be organized and neatly written to the best of your
ability.
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1. Graph f(x) = x2 — 6x — 4 by finding the following parts of this parabola.. - n
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2. Usethe leadmg coefficient test to determme the end behavior of the graph of the given polyno
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3. Find the x-intercepts. State whether the graph crosses the x-axis (fly ri ght threw) or touches the x-axis and turns
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4. Use the Rational Zero Theorem to list all possible rational zeros for
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5. Find ALL the zeros f(x) =)x® —5x2 + 17x — 13 F %ﬁ%
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6. Use Descartcs Rule of Signs to determine the possible numbers of @ fm@ real zeros of
f(x) 2 +7xr—x+7.
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b. What is the possible number of negative real zcros‘:’
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7. Use the graph of the rational function to the right to
complete the following statements.
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8. Graph the rational function g (x) =

a. Vertical
b. Horizontal © A -

3)2 +1 _1 by finding all the asymptotes: :
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c. vertical asymptote(s) -
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d. horizontal asymptote(s) OR [\ < m % - O H‘Q

slant asymptote

. any additional points necessary to graph the function.
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11. A football is kicked, the est defen ply is 6 feet from the point of impact with the kicker’s foot. The height of the punted football, f(x), in feet, can be
deled b;
me y‘f(x} —[l[llx +118x+2
Where x is the balls horizontal distance, in feet, from the kickers foot and f(x) is the height of the football.
.| Hos i oes the Tootball get?
o 7 btk
CHWf dwthfldwlltldsmlgt n’t blocked and ne bdyth s it?

L8 0 Méx hiight o€
: °’> (e \5@ 51 ek 59 fed

- (5@ 3@g> ﬁow\JrhbM

—01(59) 418 (s 42
- 3 3 (+ 06962+
3b. §|

D (54 3 Dandex

h) D 5 ot
Y b \%U(
SOl ze@qéa howkﬁhwmuw

W%}kbm\@%mf t high
3 Jwnps fu cold block %/Du %%%%%ﬁwmf
C)Sekha Lachon eaual  2em ad Dlve oo
| 04\01>< +[ 18X 13 |9 61
G 901 o Lpe My mﬂm\bl

%fmf;om Towcheo e punt i Wil [ind | %7(@ L fon-the
[




	Page 1
	Page 2
	Page 3

